= A
N = 0] &F AF S & AN A
20198 & 20 A LEHSH Al
NE RN -BIEF L SN HENERB
a0 &I EY
el Ol AOl S E MY CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
IS E 2 729,651,758 639,508,808 90, 142,950
= 435,990,641
g 12,210,000
Jl 37,235,189
= 244,215,928
HAEIIES Y 2 729,651,758 639,508,808 90, 142,950
= 435,990,641
g 12,210,000
J| 37,235,189
o= 244 215,928
HAIIEN 63,808,558 39,288,715 24,519,843
= 21,774,360
J| 23,193,934
o= 18,840,264
HAIISHMI & 15,470,262 12,302,338 3,167,924
J| 6,244,000
=} 9,226,262
AL S 2,131,000 1,978,000 153,000
306 542 1,357,000 1,319,000 38,000
01 &3 1,357,000 1,319,000 38,000
O EMILR_SA 1,357,000
308 XX SHHSOIH 774,000 659,000 115,000
10 B 2SUHUEHEAEAE AN Y| 774,000 659,000 115,000
JA-SNS2Y 27,000
OdgeXelAr2snsd 500,000
O8dESAHMA ALY 52,000
OF=HEH2ALS 80,000
OF=sdLd=F:Here 3 115,000
CEHHEIEEYE 1,267,000 900,000 367,000
307 212t0| & 1,267,000 900,000 367,000
05 QIZtR E 2 1,267,000 900,000 367,000
OEFEWHeoEdedy 1,267,000
QIIE U XNRAH2AE 11,961,662 9,308,338 2,653,324
J| 6,244,000
== 5,717,662
401 AIEHIZL £ 0HY| 11,961,662 9,308,338 2,653,324
J| 6,244,000
== 5,717,662
01 Al&H| 11,096,000 8,792,000 2,304,000
OLIIE S XNRMEAE 11,096,000
Dl 6,244,000
o 4,852,000
02 2teld| 838,355 500,000 338,355
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Al =P £ 2 o
B o4 EE N
Sl FASLHOAHAX CEEEED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 529,294
=) 742,820
308 XX EHHSOIA 1,272,114 1,259,760 12,354
= 529,294
=) 742,820
10 B/ 2SOHUHSZAEEALS I 1,272,114 1,259,760 12,354
O dMzdoolde=29Y 1,272,114
= 529,294
< 742,820
HEMZLSIIMH2S 2,472,429 2,407,921 64,508
= 2,216,620
< 255,809
308 XtXIEHH SOl A 2,472,429 2,407,921 64,508
= 2,216,620
< 255,809
01 X HHILEES 2,472,429 2,407,921 64,508
OHEMZLOIIMEHEZS S 2,472,429
= 2,216,620
< 255,809
JELEFHLEHI XA (DESR) 206,425 204,550 1,875
J| 206,425
308 AAIEHHSOIA 206,425 204,550 1,875
J| 206,425
01 HXNHHNBMNEELES 206,425 204,550 1,875
OJALHHLEHANA(LER) 206,425
J| 206,425
A2 AS &0 173,300 195,500 A 22,200
HEAASIEHEHXA 18,300 18,500 A 200
201 ¢4l 2,000 2,000 0
01 At 2t 2l 2,000 2,000 0
O Yet==2H| 2,000
OLHdESHS A2 AL A & 2,000
202 O4dl 11,700 11,700 0
01 = LH 4 Hi 11,700 11,700 0
OW&EEME =80 11,700
203 R =& 4,300 4,500 A 200
03 AIMF=AH S =AY 4,300 4,500 A 200
OWdEM2ag 2= 4,300
303 &3 300 300 0
01 L& = 300 300 0
OYSBSFAINERIZRALY 300
[CRSPNE=DNE=p 48,000 45,000 3,000




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
307 glz2tol & 48,000 45,000 3,000
11T M SRASEEX 48,000 45,000 3,000
Oxgusadsdas 18,000
OZEHEALPEZHE 30,000
HEdHasXa 30,000 55,000 A 25,000
307 21201 A 30,000 30,000 0
03 IAHMEE2IHIES 30,000 30,000 0
OEHdHME2ds 2 XA 30,000
SHESF2AIEAEY 40,000 40,000 0
307 g2+l & 40,000 40,000 0
11T M SXAISE EX 40,000 40,000 0
OddESFAIELESAY 40,000
HEnsgdads 37,000 37,000 0
307 glz2+ol & 37,000 37,000 0
11T MISXASEEX 37,000 37,000 0
OEHM=aIHA NI S S XS 37,000
HddAdsd 6,031,222 4,801,398 1,229,824
= 91,515
J| 3,433,039
< 2,506,668
RS N S, 11,000 11,000 0
201 Let2d] 11,000 11,000 0
01 At 22l 9,000 9,000 0
O W=l 9,000
OXEEZSUY WK (AOIH) 9,000
03 &Ar2 I 2,000 2,000 0
OB (TE) 2,000
SOHOHIIGHRI X AR A4S A2SH 366,303 358,056 8,247
J| 312,663
< 53,640
308 MtXIEHSOIH 366,303 358,056 8,247
J| 312,663
= 53,640
01 HXNHHBHELS 366,303 358,056 8,247
S OHOH T oH At X A 2 S X & 264,364
J| 234,248
< 30,116
M0 OoHaEA2E XA 101,939
J| 78,415
< 23,524
& OHOH IJ oHf Rk 2 = XI & 29,343 29,343 0




NS L S IENCEEBIES EE
B o4 EE N
ool RS CER-ED
- — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Jl 26,000
< 3,343
308 XX EHHSOIA 29,343 29,343 0
J| 26,000
< 3,343
01 HIXNHHBNEES 29,343 29,343 0
(] 4 OH OH Il o Xt 2 & XI & 29,343
J| 26,000
< 3,343
SOHHEZXNE I s & 74,210 79,718 A5,508
J| 58,800
< 15,410
308 XtXIEHH SOl A 74,210 79,718 A5,508
J| 58,800
< 15,410
01 X HHILEES 74,210 79,718 25,508
OHMHMHEZXNEHIISLAL 23 59,527
J| 45,790
< 13,737
OMONEZXNS &I s2SHE X &bl 14,683
J| 13,010
< 1,673
SOHOHIIH K RAIEIIsEZ 13,390 33,249 A 19,859
J| 10,300
< 3,090
403 MtXISHHE X201 E 13,390 33,249 A 19,859
J| 10,300
< 3,090
01 X SHHA2E = 13,390 33,249 A 19,859
OSOHOHTIGH R KA ED s 22 13,390
J| 10,300
= 3,090
HEZ"gueds 56,000 54,000 2,000
201 Let24d] 2,000 0 2,000
01 At 22l 2,000 0 2,000
O=2g=¢ 2,000
O HRAEMUBAMANARLLL OIS 2,000
307 21201 A 54,000 54,000 0
04 QIZFHALAIH B = 4,500 4,500 0
Ot =Zego g (2etdol) X & 4,500
11T M SRASE EX 49,500 49,500 0
OWEZH2AHANESMAESDS 13,500
D20 gSAstZAHIL DS 6.000
OJoadegsilisadgazdg 30,000




M ox
40 5 4

A3 RA - ZB B (BH) - HRAY - Ol &+ o4 SSa HmEET
HE=dU AN ESNA 613,680 122,600 491,080
307 gl2tol & 603, 180 112,100 491,080
11T AS S RAEE = 603, 180 112,100 491,080
O0&2 28813662/ S UM 2 F X 69,070
OZzeolgodgdegisds 64,110
O=2gAadEslsIsEZ2 O824 470,000
308 XXM SOIA 10,500 10,500 0
01 HIXNHHBNEES 10,500 10,500 0
Osngd=2dg 10,500
HEZAAHANLESAN=Z XA 134,736 130,080 4,656
307 21201 A 97,440 94,080 3,360
11T MISRASEX 97,440 94,080 3,360
OEEZ82HANESMASE(E) 97,440
308 MXIEHSOIH 37,296 36,000 1,296
01 HXNHHNBHELS 37,296 36,000 1,296
OWEZL2EALSAI=E(AIZ2) 37,296
oibtetd|d e 2D K& 1,285,610 1,163,570 122,040
J| 899,927
= 385,683
307 glz2tol & 1,285,610 1,163,570 122,040
J| 899,927
< 385,683
10 AL SXAIEEE2EHEX 1,285,610 1,163,570 122,040
OZ=SRdibtetIde2S X2 308,544
J| 215,981
< 92,563
OZ=s2oittetI|deH2I XA 591,217
J| 413,852
< 177,365
OF=MRdibtet I MEH2E X2 283,849
J| 198,694
= 85,155
CJolbtetdldiE2ts el s 102,000
J| 71,400
< 30,600
dEZSEI ALY EdEEsHESRUHLI SN 74,900 62,350 12,550
J| 52,610
< 22,290
307 gl2tol & 74,300 61,750 12,550
J| 52,010
< 22,290
11T M SXAISE EX 74,300 61,750 12,550
OZ==s2oitt2 eI XX 222X 7,000




M ox
40 5 4

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
9] 7,900
= 2,100
OZSS2o b METHNA 2 H SL A
SSHAMHAXNR 60,000
J| 42,000
& 18,000
OH=MEdibiet eIl AR EUE 2 X 7,300
J| 5,110
=} 2,190
308 AMXISHMSOIA 600 600 0
J| 600
01 HXHHIMNEXS 600 600 0
OJ&d=ZdIolAi==2SH 2R 600
J| 600
HEZANNNESAE2G XK (XA 31,428 25,164 6,264
307 2Iz2t0| A 31,428 25,164 6,264
10 M SXNANEEHESIHEX 31,428 25,164 6,264
OJot=sd3 AU NEEHSIE ALY 31,428
HSEZANHANESAE2IE XA 489,783 368,283 121,500
J| 261,513
& 228,270
307 BI20| & 489,783 368,283 121,500
J| 261,513
& 228,270
10 MM SAANEEHESIGHEX 489,783 363,283 126,500
O0SEAURINEHS I ALY 360,118
J| 186, 141
o= 173,977
O2UdHSg A& 129,665
J| 75,372
& 54,293
HSEZAHAXN2IIET2 03 (5) 14,286 14,286 0
J| 10,000
& 4,286
307 2Iz2t0| & 14,286 14,286 0
J| 10,000
== 4,286
11T AISIEXAIEE X 14,286 14,286 0
OJd=ZdnolAx S22 082d9 14,286
J| 10,000
= 4,286
HEANMNAXNZIIEZT 20 (A 2) 56,496 52,365 4,131
J| 50,060
= 6,436
308 XHXIGHHM SO0l & 56,496 52,365 4,131




M ox
40 5 4

= — — L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
Jl 50,060
< 6,436
01 IXNHHBNEES 56,496 52,365 4,131
O8=gIiAXSs=sE2 )82 56,496
J| 50,060
< 6,436
qEAHGLARGIE 746,938 442,790 304,148
J| 574,568
< 172,370
308 XX EHHSOIA 746,938 442,790 304,148
p] 574,568
< 172,370
01 AXHHILEES 746,938 442,790 304,148
Od=da4ga2IdR 559,068
J| 430,052
< 129,016
OZed=da4g429 N 187,870
J| 144,516
< 43,354
SZSTIcH A2 2EEHI K& 47,778 47,597 181
J| 42,335
< 5,443
308 XtXIEHHSOIA 47,778 47,597 181
Il 42,335
< 5,443
01 AXHHILEES 47,778 47,597 181
ODd=ZSToi A2 SHI X2 46,469
p] 41,175
< 5,294
OdZT ol A2t EHI X2 1,309
J| 1,160
< 149
Otsg=Z=eX 6,100 30,100 224,000
307 glz2+ol & 6,100 30, 100 224,000
11T MISRASER 6,100 30,100 A 24,000
ORXNEB A2 2N X & 6,100
IIEEHIH A NI EZ2 ORI 18,848 60,595 ANAT 747
J| 16,701
= 2,147
308 MtXIEHSOIH 18,848 60,595 ANAT 747
J| 16,701
< 2,147
01 X HHILEXS 18,848 60,595 ANAT,TAT
OJEZ2SIi M NIBNSEZ2OH2YE 18,848
Jl 16,701




M ox
40 5 4

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

| = Z 147

A28 8 sH366H H2E X2 693,979 506,230 187,749
J| 284,411
< 409,568

307 gl2tol & 693,979 506,230 187,749
J| 284,411
< 409,568

10 ALl SXAIEEE2EH EX 693,979 506,230 187,749
OW&d2 28313662 F A& 693,979
J| 284,411
< 409,568

HEZBUALBANELDE(E) 2,880 2,880 0
J| 1,440
< 1,440

307 212+0| & 2,880 2,880 0
p] 1,440
< 1,440

11T MISXASEX 2,880 2,880 0
OHEZEL2dHAESANLSE 2,880
Jl| 1,440
< 1,440

HEZABRALBANESDE (A R) 11,128 10,101 1,027
J| 8,560
< 2,568

308 MXIEHSOIH 11,128 10,101 1,027
J| 8,560
< 2,568

01 HXNHHBHELS 11,128 10, 101 1,027
OEZLd2dHAESANLS 11,128
J| 8,560
= 2,568

ZATHOLEHNALSEX 36,566 34,720 1,846
J| 23,745
S 12,821

307 glz2tol & 36,566 31,410 5,156
J| 23,745
< 12,821

11T M SXAISE EX 36,566 31,410 5,156
OZSM AT HINIAILE2IX A 36,566
J| 23,745
= 12,821

HAEAS LM SAN RIS 8,000 8,000 0
J| 4,000
< 4,000

402 RIZEX201 ™ 8,000 8,000 0
J| 4,000




AR EIIEEHD SRR BIET -
HE: 0{4HEH N
Sl ogAYSH (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
< 4,000
02 U EALEZ(0IETHR) 8,000 8,000 0
136U EH I IS E 8,000
J| 4,000
< 4,000
NEELATHNESAIESAT A (A R) 212,664 197,800 14,864
J| 190,715
= 21,949
308 XX EHHSOIA 212,664 197,800 14,864
J| 190,715
< 21,949
01 X HHILEXS 212,664 197,800 14,864
OJMEZLIH A ESANE2I R 189,109
J| 167,565
= 21,544
ONEZENHNESAEL AR SH =3 X4
HI Xl & 20,000
J| 20,000
O =TS E &l 3,555
J| 3,150
< 405
IR ZH O 28I X2 (%) 10,000 10,000 0
J| 7,000
< 3,000
307 21201 A 10,000 10,000 0
J| 7,000
< 3,000
11T MISRASEX 10,000 10,000 0
O ZETi A S XNE(E) 10,000
J| 7,000
< 3,000
INEEAMHRABHIXIR (X R) 24,023 27,570 A 3,547
J| 21,286
< 2,737
308 MtXIEHMSO0IH 24,023 27,570 A 3,547
J| 21,286
< 2,737
01 HXNHHBHEELS 24,023 27,570 A 3,547
O ZELTIH XS HI XA (AlZ) 24,023
J| 21,286
< 2,737
=N Z =2 04 (XIJ) 33,857 33,857 0
J| 30,000
< 3,857
308 XX EHH SOl 33,857 33,857 0
J| 30,000




M ox
40 5 4

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
< 3,857
01 IXNHHBNEES 33,857 33,857 0
OEZHEIi ARSI IH2EXA 33,857
J| 30,000
< 3,857
IEEZYNNANESANE2INAIsES 4,875 0 4,875
J| 3,750
= 1,125
403 XIS E X201 E 4,875 0 4,875
J| 3,750
< 1,125
01 X SHHA2E= 4,875 0 4,875
ONEZS0NESAEIsEL 4,875
J| 3,750
< 1,125
NHEEZEHLHAR2INE 705,451 459,242 246,209
J| 542,655
< 162,796
308 AHXIEHHSOIA 705,451 459,242 246,209
Jl| 542,655
< 162,796
01 HIXNHHNBMNELS 705,451 459,242 246,209
O =Za48423 0 593,793
J| 456,764
< 137,029
DSgaega23 XA 111,658
J| 85,891
< 25,767
SHO0NELEA2S N 36,000 36,000 0
308 XX EHH SOl A 36,000 36,000 0
01 HXNHHBHELS 36,000 36,000 0
O2HI0IXNAEGA2EXA 36,000
QZOHEHLIMEHH XA 3,000 3,000 0
308 XX EHSOIA 3,000 3,000 0
01 HIXNHHNBMNEES 3,000 3,000 0
Oz IoignLdectE g X 3,000
StHNMALE A NS 29,000 29,000 0
= 14,500
= 14,500
307 2I2+0| & 29,000 29,000 0
2 14,500
< 14,500
11T MISAASEX 29,000 29,000 0
Ostuida&8eANE 29,000




NETNE-BIES-EF" S IENCEEBIES EE
EELENVIEBIE L
ool RS CER-ED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2

= 14,500
& 14,500

HHOISHEAEUHEANE 40,000 40,000 0
= 20,000
= 20,000

307 2Iz2t0| A 40,000 40,000 0
= 20,000
= 20,000

11T A EXAIEEX 40,000 40,000 0]
OIS EAEHIHA NS 40,000
= 20,000
=} 20,000

FOII=84Z2BNERH 103,910 103,910 0
= 51,955
& 51,955

307 2I2+0 & 103,910 103,910 0
= 51,955
& 51,955

11T A EXAIEEX 103,910 103,910 0
OROPII=ed=8{LuE2H 103,910
= 51,955
o= 51,955

FOPIIEIIIEZE B NESH 5,060 0 5,060
= 5,060

307 gI2t0l & 5,060 0 5,060
2 5,060

1 ASI=Z XA R & 5,060 0 5,060
OO0II=IIIEZ8Egn=s2d 5,060
= 5,060

ALEINESSSEY 37,570,806 17,605,248 19,965,558
= 18,936,931
J| 13,310,470
o=t 5,323,405

HINIIE XA 340,561 332,328 8,233
= 261,970
& 78,591

308 XAHXIEHSOIA 340,561 332,328 8,233
=2 261,970
= 78,591

01 AIXSHMEMNEX= 340,561 332,328 8,233
ORI I=X & 340,561
= 261,970
=} 78,591

OlOISEXRAY () 216,083 172,778 43,305
= 151,258
& 64,825




AR HENEI MY SN OAIIEZHD
B o4 EE N
& HALEINEEE Y (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
307 glz2tol & 216,083 172,778 43,305
= 151,258
& 64,825
11T M SXASE EX 216,083 172,778 43,305
OO0 ESNEMLZANEIN2A2S XS 216,083
= 151,258
< 64,825
OtOlES = Xl & At (Al ) 20,905,323 9,374,113 11,531,210
= 18,523,703
< 2,381,620
308 XXM SO A 20,905,323 9,374,113 11,531,210
= 18,523,703
< 2,381,620
01 AXHHBILEES 20,905,323 9,374,113 11,531,210
gotolssXx& 20,905,323
= 18,523,703
< 2,381,620
AANE LN 114,000 42,000 72,000
307 21201 A 12,000 12,000 0
11T AL SXAEE = 12,000 12,000 0
OAZItE0o3tuol2g 12,000
308 X EHSOIA 102,000 30,000 72,000
01 HIXNHHNBMNEES 102,000 30,000 72,000
OtEAL OIS A 30,000
OEsS0tLisHAEXR 72,000
SS=0UsEH2Z 455,169 189,600 265,569
J| 350,130
< 105,039
308 A EHHSOIA 455,169 189,600 265,569
J| 350,130
< 105,039
01 HXNHHNBHEELS 455,169 189,600 265,569
O02sS0tLisH=29 455,169
J| 350,130
< 105,039
ABINBLOU2SIIESNIEHS I 2,102,542 1,583,788 518,754
J| 1,617,340
=) 485,202
308 XXM SO0l A 2,102,542 1,583,788 518,754
J| 1,617,340
=) 485,202
01 IXNHHBNEES 2,102,542 1,583,788 518,754
OAZNEUSSNSXNIMMHSE MU AR 1,970,072
J| 1,515,440




AR HEIEHH =
B o4 EE N
ool AYBINSSIEL CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
=) 454,632
OAHAZNE XA HEH X 132,470
J| 101,900
< 30,570
SHIRERNENEHESHISAA 11,452,057 4,541,875 6,910,182
J| 10,653,076
< 798,981
308 XXIEHH SOl A 11,452,057 4,541,875 6,910,182
J| 10,653,076
< 798,981
01 AXHHBILEES 11,452,057 4,541,875 6,910,182
OeR2HENEHLSHS X 11,452,057
J| 10,653,076
< 798,981
SHE2ItE XA (XHA) 796,047 796,047 0
307 21201 A 38,000 38,000 0
11T A SXAIEE = 38,000 38,000 0
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ER0SHAST
ESMHEAXH (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
= 32,500
< 9,750
308 XX EHHSOIA 42,250 23,400 18,850
= 32,500
< 9,750
01 HIXNHHBNEES 42,250 23,400 18,850
OANZ=SO0ISEXNJMEH2E 42,250
= 32,500
< 9,750
2Ol & CH XMl . AFXI & 4,170,000 1,527,946 2,642,054
= 2,085,000
< 2,085,000
307 21201 A 4,170,000 1,527,946 2,642,054
= 2,085,000
< 2,085,000
11T M3 SXAISEEX 4,170,000 1,527,946 2,642,054
OO el Ol & O &l 2 AFKT & 4,170,000
= 2,085,000
< 2,085,000
2SWEACIAY K 56,190,026 50,363,042 5,826,984
2 38,416,936
< 17,773,090
308 A EHHSOIA 56,190,026 50,363,042 5,826,984
= 38,416,936
< 17,773,090
01 AXSHBLAEES 56,190,026 50,363,042 5,826,984
O WAACNAHI XA 56,190,026
= 38,416,936
< 17,773,090
ESUAAHLIMNS 34,294,581 26,563,507 7,731,074
2 23,565,000
< 10,729,581
308 XXM SO0 A 34,294,581 26,563,507 7,731,074
= 23,565,000
< 10,729,581
01 IXNHHBNEES 34,294,581 26,563,507 7,731,074
== NESECDS Y Fal 34,294,581
= 23,565,000
< 10,729,581
Heold2gXd 1,713,501 1,639,972 73,529
= 1,185,883
< 527,618
308 XtXIEHHSOIA 1,713,501 1,639,972 73,529
= 1,185,883
< 527,618
01 AXSHBLELS 1,713,501 1,639,972 73,529
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2 1,185,883
< 527,618
dRoEssXNd 226,778,634 213,428,416 13,350,218
2 182,678,000
=) 44,100,634
308 XXM SOIA 226,778,634 213,428,416 13,350,218
2 182,678,000
=) 44,100,634
01 X HHBILEES 226,778,634 213,428,416 13,350,218
OgsoteszsX& 226,778,634
2 182,678,000
< 44,100,634
l3egs=gXE 52,453,162 65,255,934 A12,802,772
= 42,150,000
< 10,303, 162
308 MtXIEHSOIH 52,453,162 65,255,934 212,802,772
2 42,150,000
< 10,303, 162
01 HXNHHBHELS 52,453,162 65,255,934 A12,802,772
ONELEsgX2 52,453,162
2 42,150,000
) 10,303, 162
EsHN24s 138,000 138,000 0
307 glz2tol & 98,000 98,000 0
11T M Z2XASEEX 98,000 98,000 0
OoeoldHesl gdatAre 20,000
OO0l 2R/ Ias 40,000
O XS 14,000
X0 - HEMWSSEZ DS 15,000
O0goldEsundqesu=s 9,000
308 XXM SOIA 40,000 40,000 0
01 IXNSHHBNEES 40,000 40,000 0
203 40,000
EFNIAHAS 3,183,940 3,364,000 A 180,060
308 XX EHH SOl A 3,183,940 3,364,000 A 180,060
01 AXHHILEES 3,183,940 3,364,000 A 180,060
Ol 3,099,940
OZOMOtESNAEAESE =LA 84,000
SIS ANJHHE L3 315,000 315,000 0
307 glz2+ol & 315,000 315,000 0
11T MISXASEX 315,000 315,000 0
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Rl = N e = DA 65,000
Oodu=soz2 )8k 80,000
FaEs2435 93,166,290 94,670,170 1,503,880
308 XXIEHH SOl 93,166,290 94,670,170 A 1,503,880
01 AXHHBLEES 93,166,290 94,670,170 A 1,503,880
OE=s0ts2tAH| 2,280,000
O ol & Xt &= Xl 98,400
O2=S0tsZE 201 &I 5,000
OOEstoHelolE X Il 144,000
OXFMotsSHE oI a2SXE 19,200
O ol dS&Z Ml X2 200,000
CJZONOtE 20l Z Il ARl 24 Bl 84,000
O ol & et™ S A 2l bl 54,750
O5clBE(FeEH) 85,768,080
Ogun=Ese 162,500
OES0tsdd=sEH X2 113,400
golglold Zotet2EHI X3 1,408,800
Oe3~NR2RfgdE2s2 X 2,828,160
SSE0e0ld 5,977,805 5,613,846 363,959
2 4,721,664
< 1,256, 141
308 AHXIEHHSOIA 5,977,805 5,613,846 363,959
= 4,721,664
< 1,256, 141
01 XM EES 5,977,805 5,613,846 363,959
OS3E€0H0&EX& 5,977,805
= 4,721,664
= 1,256, 141
FIRR2UHEH2IE 56,172 75,140 A 18,968
=2 43,209
< 12,963
308 XXM SO A 56,172 75,140 A 18,968
2 43,209
< 12,963
01 X HHBISEES 56,172 75,140 N 18,968
OF2Z2LIHEH2S A 56,172
2 43,209
< 12,963
NZXISEHESAIY(ZE) 36,584 32,600 3,984
= 18,292
< 18,292
307 glztol & 36,584 32,600 3,984
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= 133,412
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OO0l E R0 X2 (F2=0) 2,961,278
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= 1,231,086
< 369,325
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OO ol &s A 1,600,411
= 1,231,086
< 369,325

Heoldeadio 746,973 438,100 308,873
= 574,595
< 172,378

403 XIS S X201 & 746,973 438,100 308,873
= 574,595
< 172,378

01 XXM A2E = 746,973 438,100 308,873
gogoldetZie 746,973
= 574,595
< 172,378
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AL A4 X 2,380,048 2,210,946 169, 102
= 88,515
J| 897,053
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& 115,335
01 AIXSHMEMNEXZ 1,012,388 1,094,776 N 82,388
OgAdotsIIEXNA 1,012,388
J| 897,053
& 115,335
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AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
01 AIXHMBAEXZ 40,000 40,000 0
OO el 0l & A 40,000
ObSBHTHOI 2 2 7 Al 103,847 98,232 5,615
308 AXISHAMSO0IA 103,847 98,232 5,615
01 AIXHMBANEXZ 103,847 98,232 5,615
OXNES0tsES®E I 2EAMNY 26,040
OXNYGEESHE2IIH2I X (KA 77,807
NEOSARSH 1,984,975 1,835,217 149,758
307 212t01 & 181,000 140,000 41,000
10 M SXAEEE2IHIEX 90,000 55,000 35,000
O0sEs XS ANEd2IXA 20,000
OotsHEXJMdHSE X 70,000
11 AMIASAAEEXR 91,000 85,000 6,000
BSESOSAZT2LFHIALLAIS 20,000
OX=aANLotSHSUHIEILA 18,000
OAN&EOtsSE0 =M 18,000
[0tS=XIAIE S AXAH 20,000
OO0SEXNANESMNERNE 15,000
308 AXISHMSOIHA 1,803,975 1,695,217 108,758
01 AIXHMBAEEXZ 1,803,975 1,695,217 108,758
O0SYIANESIALALHI XS (=21EN) 1,463,783
OO8S0tsAMEHIX& 35,800
OOIsSXAIES A= 133,800
OEA0tsAHEEEH= 102,000
OMeI2g0tsY=ANESSZAE 2,160
Odorssttis2 = A NAA 6,480
OsttHIloH & HCHM I & X & 5,772
OJOots=XIAl & HLHEH| XA 54,180
O0tsME A& 5,580
OX<E0ots Al E 48,600
Z2A0s2 AKX 8,004,690 7,808,307 196,383
308 AHXI S M SO0l & 8,004,690 7,808,307 196,383
01 AXHMIAEES 8,004,690 7,808,307 196,383
OesssA(F2UEA) 1,222,290
OSIEESELSA(FUEA) 6,450,975
OXYEOISHESSAMXS(FEA) 331,425
RESOHsIE=S2I3XNA 429,789 346,702 83,087
Dl 296,406
< 133,383
308 AHXI S M SO0l & 429,789 346,702 83,087
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Pl 296,406
& 133,383

01 AIKISHEMNEXZ 429,789 346,702 83,087
OEsots1ss2g 3 429,789
Jl 296,406
= 133,383

stijmloiolsaEeH&d 601,848 538,600 63,248
J| 415,068
=} 186,780

308 MXISHMSOIA 601,848 538,600 63,248
J| 415,068
=} 186,780

01 IXHHIMNEEXTZ 601,848 538,600 63,248
OJstfuoiotsdgad 601,848
J| 415,068
& 186,780

LESOISXHE X 2 72,720 0 72,720
2 64,435
= 8,285

308 AXIEHSOIA 72,720 0 72,720
2 64,435
o= 8,285

01 AIXSHMENMNEX= 72,720 0 72,720
OFAEOSNHE XS 72,720
= 64,435
= 8,285

BsE=s0sAHE X2 923,585 0 923,585
= 676,064
& 247,521

308 XAXIGHHM SO0l & 923,585 0 923,585
2 676,064
& 247,521

01 HXHHBIMNEXS 923,585 0 923,585
O2sESs0sHEg ==& 923,585
= 676,064
o 247,521

OlsS2E X AHEXH 1,341,240 1,242,557 98,683
=2 1,188,441
o= 152,799

308 XX SHHSOIH 1,341,240 1,242,557 98,683
=2 1,188,441
o= 152,799

01 AIXSHMENEXZ 1,341,240 1,242,557 98,683
OOotsY Y XIS HEXS 1,341,240
= 1,188,441
& 152,799




ors 22 II;J (cho &)
= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t

Ot== Xl 1w AHIHA K| & 1,880,105 1,802,320 77,785
= 1,446,237
< 433,868

308 XXX S0 A 1,880,105 1,802,320 77,785
= 1,446,237
< 433,868

01 AXSHBLEELS 1,880,105 1,802,320 77,785
Odots=X WAIHA X & 1,880,105
= 1,446,237
< 433,868

EYAEBEMY 5,676,000 5,742,000 A 66,000
= 5,676,000

308 XXM S0l A 5,676,000 5,742,000 A 66,000
= 5,676,000

01 IXNHHBNEES 5,676,000 5,742,000 266,000
EHABREMY 5,676,000
= 5,676,000

OtEsEXAEIIs2Z 941,737 109,472 832,265
| 724,413
< 217,324

403 XIS E X201 & 941,737 109,472 832,265
| 724,413
< 217,324

01 AXSHMA2E = 941,737 109,472 832,265
O s=XNAIEI)IsEZ 941,737
| 724,413
= 217,324

Ctet szl 28I X & 259,225 0 259,225
= 199,405
S 59,820

308 XXX S0 A 259,225 0 259,225
= 199,405
< 59,820

01 AXSHBLEES 259,225 0 259,225
Oot==ssSHAUAHI X & 259,225
= 199,405
< 59,820

CHEE N =S |5l X & 495,000 0 495,000
= 420,000
= 75,000

403 MtXISHHE X201 E 495,000 0 495,000
= 420,000
< 75,000

01 AXSHMA=2EE 495,000 0 495,000
Oot=SssHEXHX&E 495,000
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OI%Q—. II;J (e &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
= 420,000
& 75,000
I2ESsSHS2E X 168,000 0 168,000
308 AXISHXSO0IH 168,000 0 168,000
01 AIXHMBAEXZ 168,000 0 168,000
oossE220 U0 X 108,000
Odot2=sH2E XN 30,000
O0S=SHAMEXH 30,000
NEotsd eSS X2 (XHA) 386,788 406, 348 A 19,560
307 212t01 & 112,600 112,600 0
11 AMISAAEE X 112,600 112,600 0
OXN<E0otsHE OIS S SH0HE 3,600
Oots2SAEHIAS 9,000
OXNY0lSHESSAIEZ2 100,000
308 AHXI S SO0l 262,188 263,748 A 1,560
01 AIXHMBAEEXZ 262,188 263,748 A 1,560
OXYG0otsSHdESAXNSE 212,688
OXNEotsHdHSES I 28X 49,500
403 ItXIHXM S K201 12,000 30,000 A 18,000
01 AIXISHMA2E X 12,000 30,000 A 18,000
OSg8XgotsdeHE XA 12,000
NGO sSHEHSIXNS(EX) 10,793,977 10,092,069 701,908
= 8,303,060
& 2,490,917
308 AHX| S SO0l & 10,793,977 10,092,069 701,908
= 8,303,060
& 2,490,917
01 AXHMIAEES 10,793,977 10,092,069 701,908
OXES0otsdeH2E X 10,793,977
= 8,303,060
T 2,490,917
NEO0otsSHEHSZINSE X 883,997 0 883,997
= 680,000
< 203,997
403 X SHMS K201 883,997 0 883,997
= 680,000
T 203,997
01 XX SHMAA2EX 883,997 0 883,997
OXNEotsHaHSEMNSE XA 883,997
= 680,000
& 203,997
XG0S E XA 362,483 389,376 A 26,893




M ox
40 5 4

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

= 278,831
< 83,652

308 XX EHHSOIA 362,483 389,376 A 26,893
= 278,831
< 83,652

01 HIXNHHBNEES 362,483 389,376 A 26,893
Of=XI0otsdlH X 362,483
= 278,831
< 83,652

NEtsSHHES==SREXA 199,508 199,508 0
= 153,468
< 46,040

308 XtXIEHH SOl A 199,508 199,508 0
= 153,468
< 46,040

01 X HHILEES 199,508 199,508 0
OXSotsdeHSE+==Ha A& 199,508
= 153,468
< 46,040

NE0lsdHERSE XA 161,241 161,241 0
= 124,032
< 37,209

308 A EHHSOIA 161,241 161,241 0
= 124,032
< 37,209

01 HXNHHNBHEES 161,241 161,241 0
OXNGtsdHERRE XA 161,241
= 124,032
< 37,209

T HOISME B2 S X 2 49,994 53,644 A 3,650
= 24,997
= 24,997

307 glz2+ol & 49,994 53,644 A 3,650
= 24,997
= 24,997

11T MIEXASEX 49,994 53,644 A 3,650
OXNSotsHHEINSE2E XA 49,994
= 24,997
< 24,997

NAOISHE A RS SH T 2 175,000 175,000 0
2 87,500
< 87,500

307 21201 A 175,000 175,000 0
= 87,500
< 87,500

11T AL SXAEE X 175,000 175,000 0
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OXYG0tSHBEHANEXNHSH2E XS 175,000
= 87,500
< 87,500

OG22 2G XA 1,620,767 1,499,326 121,441
J| 1,246,744
= 374,023

308 XXM SOIA 1,620,767 1,499,326 121,441
J| 1,246,744
< 374,023

01 X HHBILEES 1,620,767 1,499,326 121,441
OXYtsEsd2I 223 X& 1,620,767
J| 1,246,744
< 374,023

Ots+==EX& 106,790,883 61,204,337 45,586,546
= 96,597,495
< 10,193,388

308 MtXIEHSOIH 106,790,883 61,204,337 45,586,546
= 96,597,495
< 10,193,388

01 HXNHHBHELS 106,790,883 61,204,337 45,586,546
O0s+=E=20X=2 106,790,883
= 96,597,495
< 10,193,388

Ots+=2HE2d 30,607 67,702 A 37,095
= 27,120
= 3,487

308 XAXIEHHSOIA 30,607 67,702 A 37,095
= 27,120
S 3,487

01 IXNHHBHNEES 30,607 67,702 A 37,095
Oots=grcz2d 30,607
= 27,120
< 3,487

AEELAESHYES 26,129,973 26,810,784 A 680,811
= 748,900
s 12,210,000
J| 5,898,656
< 7,272,417

AU SHESXEY 18,127,008 19,633,329 A 1,506,321
= 375,400
s 12,210,000
J| 1,725,793
< 3,815,815

NZ2EAESBAILAE 6,670,000 12,770,000 ~6,100,000
s 6,670,000

403 MtXISHE X201 & 6,670,000 12,770,000 26,100,000
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A= =3
Hu: AMHAUSHUDIS
Sl HAUSHESKH (B9 ®R)
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
E=ESEE= g N e Rl 10,000
OIS LIGsHE2SAE 8,000
OFAELYEIABNE 7,200
308 XXM SO A 36,000 36,000 0
01 AXHHBISEES 36,000 36,000 0
OZSFALHHAEIE2E A 30,000
OZ4=cHA2ESEH=A 6,000
AN egs84dst 61,500 63,000 A 1,500
308 XX EHSOIA 61,500 63,000 A 1,500
01 IXNHHBNEES 61,500 63,000 A 1,500
ON3FAEMNASZZOH2Y 33,000
OFaxdEnad=23 15,000
OFadodussdunazd 13,500
CEAHESIUSHHNR 744,000 626,333 117,667
2 190, 100
=) 553,900
307 21201 A 744,000 626,333 117,667
2 190, 100
=) 553,900
10 A SIAEHE2SEHIEX 744,000 626,333 117,667
O34 SHUEHHAA 744,000
2 190, 100
< 553,900
NZELESBALE AT XS A XX 335,942 251,094 84,848
J| 335,942
308 MtXIEHMSOIH 335,942 251,094 84,848
J| 335,942
01 AXHHBAEES 335,942 251,094 84,848
OANZE3AT=BAEE2E X S A XX & 335,942
J| 335,942
FAESHANLZZ OS2SR 2,600 4,000 A 1,400
J| 2,600
308 A EHHSOIA 2,600 4,000 A 1,400
J| 2,600
01 IXNHHBHEELS 2,600 4,000 A 1,400
OANZEAESHAAILZIZ B2 LIS 2,600
J| 2,600
HAHFOHXA(SZ) 10,000 10,000 0
J| 5,000
=) 5,000
307 21201 & 10,000 10,000 0
J| 5,000
=) 5,000
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VEEBIE SN OEETH
AVHALURHUDS
HAUSHEENR

.24 B GH(3AH) - KR - BES of 4 o4 il HI RS2

M ASIMNSEX 10,000 10,000 0
Ozsodz2g 10,000
Jl 5,000
< 5,000

HAHEOHXE (A2) 49,100 49,100 0
Jl 45,200
= 3,900

308 XXM S0l ™ 49,100 49,100 0
Jl 45,200
= 3,900

01 UAXESHHBLEXS 49,100 49,100 0
OANZEHA22S 32,200
Il 32,200
OAEANE2SA2XE 16,900
Jl 13,000
= 3,900

dagsoelgs 80,000 80,000 0
= 80,000

308 At XM SO0l & 80,000 80,000 0
= 80,000

01 XM BaE2ES 80,000 80,000 0
O&3AE3S0tel K& 80,000
= 80,000

FAHSEOEXNE 126,300 126,300 0
= 105,300
£ 21,000

308 XXM SO0l ™ 126,300 126,300 0
= 105,300
= 21,000

01 HAHHZEES 126,300 126,300 0
OCE2E0SE0ENR 49,000
= 28,000
S 21,000
OANZEAHHSE0EX S 77,300
= 77,300

A= 0IHH0I2E XS 1,738,166 1,337,502 400,664
Jl 1,337,051
= 401,115

308 XXM S0l ™ 1,738,166 1,337,502 400,664
Jl 1,337,051
= 401,115

01 UAXESHHBLEES 1,738,166 1,337,502 400,664
OFAESNSO0SO0I2E X 1,738,166
Il 1,337,051
= 401,115
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a= =3 = 2 2t
Hu: AMHAUSHUDIS
ool HAUPSHSA EERED
- — — L=
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
307 2Iz2to| & 120,000 120,000 0
11T AISIEXAIEEX 120,000 120,000 0
OFOptesdusoz ) 120,000
HAEEE XS AN 79,800 79,800 0
J| 79,800
308 XAHXIGH SO0l & 79,800 79,800 0
J| 79,800
01 AIKISHHENEXZ 79,800 79,800 0
OF3AESE XA 79,800
J| 79,800
HAEQMNWSH2ZASH2A XK (XHAl) 26,000 26,000 0]
307 QI2t0| & 26,000 26,000 0
11 A EXAIEEX 26,000 26,000 0
OEHAERMHSHZAIHNZ SR 26,000
HAESIXA 5,628,414 4,907,717 720,697
= 353,000
J| 3,791,891
o=t 1,483,523
H&E st X 65,500 65,500 0
308 AMXISHMSOIA 65,500 65,500 0
01 AIXSHMEMNEXZ 65,500 65,500 0
JHI&E RS W2HH XA 65,500
HASEALAEX S 14,800 14,800 0
307 2iz2to| & 6,400 6,400 0
11T A EXAIEEX 6,400 6,400 0
OodsaAdstH = U3 6,400
308 XNXISHHM SO0l & 8,400 8,400 0
01 IXHHIMNEXZ 8,400 8,400 0
OF3AEZR2H2AHX 8,400
CEHAGHZEHRY 46,000 46,000 0
307 212t0| ™ 46,000 46,000 0
11 A EXAIEE X 46,000 46,000 0
O AEHEAHOAZEXNA 36,000
OaEgEaugdsosz IsHed 10,000
HAGUEHSAMAE=ZEIA 19,488 21,504 A2,016
307 QI2t0| & 15,120 15,120 0
11T A EXAIEEX 15,120 15,120 0
O AEUEHEAIASE 15,120
308 XX SHHSOIH 4,368 6,384 A2,016
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R .24 B BH(3H) - MRALY - B of 4 o4 il HI RS2

01 XM BaEES 4,368 6,384 N2,016
OANZEALEHHSMASE 4,368

HAASEXNEHARE(Z) 402,960 383,000 19,960
Jl 201,480
= 201,480

307 glztol & 402,960 383,000 19,960
Jl 201,480
& 201,480

M ASIMNSER 402,960 383,000 19,960
O-3A2dSSXNIMARE 402,960
Il 201,480
S 201,480

SNEHAASANYFUEH2E(Z) 59,520 52,772 6,748
Jl 29,760
S 29,760

307 212t0l & 59,520 52,772 6,748
Jl 29,760
£ 29,760

AR S XA E X 59,520 52,772 6,748
O nZAJASIANH2SE 59,520
Jl 29,760
= 29,760

WEASAN2HdEH=2Y 132,080 116,628 15,452
Il 66,040
T 66,040

307 glztol & 132,080 116,628 15,452
Il 66,040
= 66,040

M AMSIMNSEX 132,080 116,628 15,452
O=1178A2SXNEdHES 132,080
Jl 66,040
S 66,040

HAESEXNAMARS(ANZ) 1,052,310 923,000 129,310
Jl 1,052,310

308 XXM S0l ™ 1,052,310 923,000 129,310
Jl 1,052,310

01 UAXSHHBLEXS 1,052,310 923,000 129,310
OANZ3AHSSNEHARE 1,052,310
Il 1,052,310

SNEHAAASIZUEE2E(AZ) 14,880 13,192 1,688
l 14,880

308 Xt &M S 01 A 14,880 13,192 1,688
Jl 14,880

01 XM B EES 14,880 13,192 1,688




AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2

OANZSNZSAASKNMH2 S 14,880
| 14,880

HAESEIHZZ J#H2F XA 80,050 910,392 A 830,342
| 40,025
< 40,025

307 glz2tol & 80,050 910,392 A 830,342
| 40,025
< 40,025

11T AISI S XA E X 80,050 910,392 A 830,342
OJEAESHUNEZ A2 IF A 80,050
| 40,025
< 40,025

HAUSEBIHZZ JHSA XS (AIZ) 964,687 0 964,687
J| 643,125
< 321,562

308 XX EHH SOl A 964,687 0 964,687
J| 643,125
= 321,562

01 HXNHHBHEES 964,687 0 964,687
OANZEAESENEZ OS2I 964,687
| 643,125
< 321,562

SHAIIEA2EAFSENE R 63,000 63,000 0

307 glz2+ol & 63,000 63,000 0

11 ASI S XA E = 63,000 63,000 0
OstHAINE AL SSENE XA 63,000

HiddEdH2I (L) 520,975 474,625 46,350
| 167,301
< 353,674

307 glz2+ol & 520,975 474,625 46,350
| 167,301
< 353,674

10 ALSISXAIEEE2EHEX 520,975 474,625 46,350
OEEaddH=2d 520,975
| 167,301
< 353,674

HiddEdH2I (AlZ) 295,357 423,071 A127,714
J| 241,657
< 53,700

308 XX EHH SOl A 295,357 423,071 A127,714
J| 241,657
< 53,700

01 AXSHBLELS 295,357 423,071 A127,714
O E3AEEEH2Y 113,599
| 92,945
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